

Townhouse in Gozo - Kercem



Gozo - Kercem, Gozo



€395,000

Reference No: 240031019-7894

 Total Rooms: 7

 Floor Area (m²) : 0

 Bathrooms: 2

 Bedrooms: 3

Townhouse - For Sale - Gozo - Kercem

KERCHEM - An imposing townhouse situated in the heart of Kercem, abundant in traditional features, such as patterned tiles, wooden beams, and old stone wall. On the ground floor one finds a large living/dining area with the main entrance, a separate kitchen and courtyard which also provides a second entrance through an alley. On the first and second floor there are the living quarters which entail 3 large bedrooms and 2 separate bathrooms. A small yard leads up to the roof which enjoys great views of this island. Once renovated property will make a lovely home.

Features

- ✓ Yard
- ✓ Balcony

Rooms

- ✓ Kitchen : 4.7 x 2.8 m (13.16 m²)
- ✓ Living/Dining : 6.6 x 3.5 m (23.1 m²)
- ✓ Single Bedroom : 3 x 4.5 m (13.5 m²)
- ✓ Single Bedroom : 4 x 7 m (28 m²)
- ✓ Single Bedroom : 3.5 x 5.2 m (18.2 m²)
- ✓ Bathroom : 2.6 x 2.3 m (5.98 m²)
- ✓ Bathroom : 2.6 x 2.3 m (5.98 m²)

Gallery







RE/MAX Property Centre - Victoria Gozo

RE/MAX Property Centre - Victoria

M: 79551616

E: gzo@remax.com.mt

T: 79551616

RE/MAX Property Centre - Victoria

11, Independence Square, Gozo - Victoria, Malta